KOMPAC © Featured Accessories

= SECTION 7 Pg. 7.7
Lith-O-Roll Replacement Rollers
Kompac (c) : GRAPH TECH INC.; VARN PRODUCTS CO., INC EXCLUSIVE DISTRIBUTOR

KolorMate =~

N <
Oscillator / \\(water) Schematic Key
\ J & Metal or Hard Rubber Rollers
\\ available from L-O-R
S~
Q Soft Rubber Rollers
available from L-O-R
Rollers NOT Available
from L-O-R
on A.B. DICK MODEL 350/ 360/ 8800 (Schematic view- this page)
SCHEMATIC LITH-O-ROLL
NUMBER PART NUMBER DESCRIPTION D?XJE!IPEER SL%?JFG‘!&E ?.\éﬁgﬁ' PKEITE?«SUMEEH n?&%ggs
14 AB-3614-GT | Hard Metering Roller (with ball bearings) 1-1/2  11-11/16 13-11/16 92420 IB.B.
15 AB-3615-GT Water Form (with ball bearings) 2 11-1/8 13-11/16 92430 B.B.
on A.B. DICK MODEL 375/ 9800 (Schematic view- this page)
SCHEMATIC LITH-O-ROLL T
NUMBER PART NUMBER DESCRIPTION DAMETER  LENGTH LENGTH  PART NUMBER INGLUBES
14 AB-3714-GT Hard Metering Roller (with ball bearings) 1-1/2 13-1/2 15-1/2 92460 B.B.
15 AB-3715-GT Water Form (with ball bearings) 2 13 15-1/2 92470 B.B.

on MULTILITH MODEL 1250/ 1250-W/ 1250-LW and “IPC” System (Schematic view- this page)

-O-ROI S

SUUMBER.  PART NUMBER DESCRIPTION DIAMETER LENGTH LENGTH  PAMTNUMBER INGLUDES
14 MW-1214-GT Hard Metering Roller (with ball bearings) 112 11-9/16 13-9/16 92400 B.B.
15 MW-1215-GT Water Form (with ball bearings) 2 1 13-9/16 92410 B.B.
15 MW-1215-GTI Water Form (with ball bearings)(for IPC sys.) 2 11 14-5/8 94770 B.B.

on MULTILITH MODEL 1350 and “IPC” System (Schematic view- this page)

VR o e DESCRIRTION Sern WNGRT QKRN oRRTiMeEs  WSUSEs
14 M-1314-GT Hard Metering Roller (with ball bearings) 1-1/2 13-1/2 15-1/2 92460 B.B.
15 M-1315-GT Water Form (with ball bearings) 2 13 15-1/2 92470 B.B.
15 M-1315-GTI Water Form (with ball bearings)(for IPC sys.) 2 13 16-31/32 94760 B.B.

on ATF MODEL “CHIEF 15"/ “CHIEF 115" (Schematic view- this page)
SCHEMATIC LITH-O-ROLL DESCRIPTION OUTSIDE ~ SURFACE OVERALL _PRESS MFG ROLLER

PART NUMBER DIAMETER  LENGTH LENGTH  PART NUMBER INCLUDES
14 W-314-GT Hard Metering Roller (with ball bearings) 1-1/2 11-3/16 13-3/16 92440 B.B.
15 W-315-GT Water Form (with ball bearings) 2 10-5/8 13-3/16 92450 B.B.

on ATF MODEL “CHIEF 17"/ “CHIEF 117" (Schematic view- this page)

RS AR DESCRIPTION SERs UGS R AIMES  (OUSL
14 WW-314-GT Hard Metering Roller (with ball bearings) 1-1/2 11-9/16 13-9/16 92400 B.B.
15 WW-315-GT Water Form (with ball bearings) 2 11 13-9/16 92410 B.B.

on RYOBI MODEL 2800 (Schematic view- this page)

-O- OUTSIDE ~ SURFACE OVERALL  PRESS MFG ROLLER

Sﬁﬁ%gc PART r?u':%ELn DESCRIPTION DIAMETER  LENGTH LENGTH  PART NUMBER INCLUDES
14 RY-2814-GT Hard Metering Roller (with ball bearings) 1-1/2 12 14-1/16 92520 B.B.

15 RY-2815-GT Water Form (with ball bearings) 2 11-1/2 15 92530 B.B.

on RYOBI MODEL 3200 (Schematic view- this page)

SCHEMATIC LITH-O-ROLL OUTSIDE  SURFACE OVERALL PRESS MF ROLLER
NUMBER PART NUMBER DESCRIPTION DIAMETER ~ LENGTH LENGTH PART?«?JMBER lNé)LUDES
14 RY-3214-GT Hard Metering Roller (with ball bearings) 1-1/2 12-7/8 14-7/8 92540 B.B.

15 RY-3215-GT Water Form (with ball bearings) 2 12-11/32 15-13/16 92550 B.B.

LITE - © - ROLL



